RIRE 1SR

IEES 13 =5
ALSME®RE FEEEE) RUVALBR—E
1 I = £ BEHELUZ—ERNEIEISE
2 T e 15 i ERETFBIE292%F
3 I * 1 A B
4 I = B 2 EBROAEBREIE
5 A#f2E (4£) 8B S 3 # 5 A 12 H
6 A # #® 47 B B H®M 3 &£ 5 A 26 H g7 10 B 00 4
17 F E i % 3,993, 000 M
8 A # H B @ & 3, 630, 000 M
9 &= & @& R @ B - H
10 € A AL fi 4% 58 2 2 S M 4% (B 3R) - H
AHKER -
M(tfgufﬁ*gj% # 1 H =20 = = (h v ARIGERLE)
A K & % A & A o= &
@INEEE 3, 480, 000
WEBHIHE 3, 499, 000
ERALEE 3,470, 000
BETEE 3, 450, 000 AL (95.04%)
K& |AR=#t EHEE AKKIHE BHF ES
EAEE
T |ZRETFHROSIL6T B4FH i
2 S 3, 795, 000 M
I H EL S 3 & 5 A 25 B~ EMK S 3 &£ 7 A 30 B




RIRE 1SR

IEES 14

Jjn

ABMERE (RREE) RUALBR—%

= % HAMRE (FAM) I=x
% 5 AT ERETFBLR654F M1 (EH
= 1# i/ 7 3 b S

—_

ES 1 2 EEAEMTX
flasd (%) B $8M 3 & 5 A 12 H
i # 7 B B €M 3 & 5 A 25 H FEr 10 B 00 %
E 1 % 3, 685, 000
o B @ B 3, 350, 000
= & & R @ % —
16 A AL i 4% 58 & 2 2 il 48 (B k) —

© o0 ~N oo o1 bA~Aw DN
> % > = H H H H

M
M
M
M

—_
o

AR

ASMEREL . - — BE
s g 1 [E g 2 [ g 3 [
(ERER) (v ARIEHALE)

A & A g & A & &
A ORHEH 3, 300, 000
TERME 3,270, 000
BhEEX 3, 300, 000
LN BHF M S KRR 3, 250, 000 &AL (97.01%)

K& [ENEMHEMBEESERRIT Xk Fk EH

X |RRETF AT 182

ZHIEEE 3,575, 000 M

I H AL S 3 & 5 A 25 H ~ EM «fM 3 & 8 B 20 H

EILERE




RIRE 1SR

IEES 15 =5
ALSME®RE FEEEE) RUVALBR—E
1 T ES & MIEHhERERIE
2 T e 15 i ERETFAEIZIAITH
3 I 4 U Al —fEE AR
4 I = 1 E ERHRIFE
5 A#aE (B4) B HfF 3 & 5 A 12 H
6 A # ® 7T B BH M 3 & 5 B 26 H FHr 10 B 00 %
7 % E i % 11,979,000 M
8 A # H ® 10,890,000 M
9 &= & @& R @ B - H
10 B AR {E4& 38 2 & fi 48 (Biik) 9,611,300 M
AFL#ER -
A o= & A o= & A o= &

(B)FE A AR HE 10, 600, 000
HORME 10, 650, 000
+ 8RR 10, 670, 000
BMATIEE 10, 590, 000
(FEIRSES 10, 570, 000 HEFL  (97.06%)

. K& [MxXs# FFEEFX  ARIER FEAX

R |EFRETFACET12Z3010
Sk ] 11,627,000 M
I # |#TI 4™ 3 & 5 B 26 B~ €M 3 & 10 B 29 H




RIEEE 151K

IEES 16 =5
ALSME®RE FEEEE) RUVALBR—E
1 I BN B BYsS>RFRE1SBEBEISE
2 I = 15 T ERFETFBLE
3 I = i Al XK
4 I = 1 B 15@BHEIE
5 A#f2E (4£) 8B S 3 # 5 A 12 H
6 A # #® 47 B B H®M 3 &£ 5 A 26 H g7 10 B 00 4
17 F E i % 8,173, 000 M
8 A # H B @ & 7,430, 000 M
9 &= & @& R @ B - H
10 € A AL fi 4% 58 2 2 S M 4% (B 3R) 6,414,700 M
AHKER -
lfli;}é]uf%@%;% # 1 H =20 % B (h v ARIEEALE)
AW £ 8| AL £ 8| AL & &8
() LLI U7 4R 71,100, 000 &AL (95.56%)
(BT H K H4 7, 355, 000
A O KR 7, 300, 000
+E&KRME 7, 280, 000
ERALTEE 71, 250, 000
(R T T 5 71, 300, 000
K& |BX&# LG8 KEm#F®RERE LG B
EAEE
XA [EFRETFRASIAT BT1E M
2 S 7,810, 000 M
I # AL &% 3 &£ 5 R 26 A~ SfM 3 & 11 A 30 H




RIEEE 151K

—_

= B
5
&
= 1
s (%)
L. B 17T H
E {i
Lok & ff
B B & R
{6 A HL 1 6 5 25 2 8 M (2 450

%
=

© o0 ~N oo o1 bA~Aw DN
> % > = H H H H

—_
o

RENEFEBAUERRTIE

ERIFHE

TR

BliEZER

«fM 3 & 5 A 12 H

«fM 3 & 5 A 26 H
4,972, 000
4,520, 000

M
M
M
M

Sl

IE&HS

17

Jo

ABMERE (RREE) RUALBR—%

10 B 00 %

AR

ALSmMERES
(FERFER)

Padasd

A &

£ 2 =
A g &

1 [a

HE

(v aNIFHELE)

BT A+

4,470,000

BHOKRME

4,500, 000

TERME

4,460, 000

BIATHEE

4,350, 000

ZAL (96 24%)

(ZEIRRTES

4,400, 000

K4

ARz

WMATHRE - HARIEER

BEERT

EILERE
=330

ERETAR1SREST B37H M

RiEER

4,785, 000 !

T # ‘L ©H

3 & 5 B 25 H~ %K

TH

3

-3

10 A 29 H




RIRE 1SR

IEES 18 =5
ALSME®RE FEEEE) RUVALBR—E
1 I 2 % HISERERAUEERFEIS
2 I = 15 T RFRETFEZR
3 I = i Al XK
4 T = 1 2 EERE
5 A#f2E (4£) 8B S 3 # 5 A 12 H
6 A # ® 7T B BH M 3 & 5 B 26 H a1 10 B 00 %
17 F E i % 8,987, 000 M
8 A # H B @ & 8,170, 000 M
9 &= & @& R @ B - H
10 € A AL fi 4% 58 2 2 S M 4% (B 3R) 7,194,800 M
AHKER -
lfli;}é]uf%@%;% # 1 H =20 % B (h v ARIEEALE)
AW £ 8| AL £ 8| AL & &8

(@A R 71,930, 000 &AL (97.06%)
BAAKRMEK 8, 020, 000
+E&RME 7,980, 000
ERATEE 8, 030, 000
(0T T 5 71,950, 000

- K& |ARs# @AM KRERIEE Bk S

XA [EFEETRISEIT B 168 #160
2 S 8,723, 000 M
I H EL S 3 & 5 A 25 B~ EMK S 3 &£ 10 A 29 B




RIRE 1SR

Jjn

IEES 19
ALSME®RE FEEEE) RUVALBR—E
1 T + % HREZKEHBKEMREIE (1 IK)
2 T e 5 BT RIFETFREZ4F M3 5 ~ FHRFE AN 1087 th ith 5F
3 I = i Al JKEREER
4 I = 1 B KEHRKEHRREIE
5 A#aE (B4) B HfF 3 & 5 A 12 H
6 A A ® 7 B B €M 3 &£ 5 A 25 H FH1 10 B 00 &
7 % E i 1% 8,558,000 M
8 A # H ® 7,780,000 M
9 &= & @& R @ B - H
10 B AR {E4& 38 2 & fi 48 (Biik) 6,910,020
ARLEER -
lfli;}guf%@%;% # 1 H =20 % B (h v ARIGERLE)
A K & % A & A o= &8
(9 LLI U 4R 7,500, 000 SEFL  (96. 40%)
mFEAR—1) VI TX 7, 600, 000
B ILBE B Rk iR 7,650, 000
B A TS 7,620, 000
WEBHIHE 7,650, 000
- K& |BX&# LG8 KERMFEEREE LE B—
¥R |EFRETFRAZIIT BT
LS 8,250,000 M
I # BEL S 3 # 5 A 26 B~Z®KK M 3 &£ 12 A 10 H




RIRE 1SR

IEES 20 =5
ALSME®RE FEEEE) RUVALBR—E
1 T + % HBREZFKEHRKERRELIE (2IK)
2 T e 5 Fr  EFREIFEHT6EM 104 E ~FHEF227F Hh2ih 5
3 I = i Al JKEREER
4 I = 1 B KEHRKEHRREIE
5 A#f2E (4£) 8B S 3 # 5 A 12 H
6 A # ® 7T B BH M 3 & 5 B 26 H a1 10 B 00 %
7 % E i 1% 7,942,000 M
8 A A K B @ % 7,220,000 M
9 &= & @& R @ B - H
10 B AR {E4& 38 2 & fi 48 (Biik) 6,410,150 M
ARLEER -
)kfl?,;}guf%@%;% # 1 H =20 % B (h v ARIGERLE)
A K & % A & A o= &
(9 LLI U 4R 7,070, 000
BFEER—) VT ITE 7,050, 000 AL (97.65%)
B ILBE B Rk iR 7,100, 000
B A TS 7,120, 000
WEBHIHE 7,140, 000
- K& |AR&i FHEA—UIIE KRR FE B—
¥ |RRBETEI1ERATT B44%EiH
LS 7,755,000 M
I #H L $fM 3 & 5 A 26 H~5xE ®f 3 & 12 A 10 A




RIEEE 151K

IEES 21 =5
ALSME®RE FEEEE) RUVALBR—E

1 T ES & CFRNMPERIERERAISE
2 T e 5 i ERETF{CFM202%
3 I S U Al AR
4 T 2 1 E | EREBHIE
5 A#aE (B4) B HfF 3 & 5 A 12 H
6 A A ® 7 B B €M 3 &£ 5 A 25 H FH1 10 B 00 &
7 % E i 1% 34,793,000 M
8 A # H ® 31,630,000 M
9 &= & @& R @ B - H
10 B AR {E4& 38 2 & fi 48 (Biik) 28,911,257 H

ARLEER -
Aj(tfguf%%%%;% # 1 H =20 % B (h v ARIGERLE)
A K & % A & A o= &
(9 LLI U 4R 30, 680, 000 SEFL (97.00%)
@®IhEEE 30, 850, 000
EA TS 31,000, 000
A+ E A 31, 350, 000
LT EmE 31, 200, 000
K& |BX&# LG8 KERMFEEREE LE B—
EAEE
¥R |EFRETFRAZIIT BT
LS 33,748,000 M
I # L $fM 3 & 5 A 26 H~xE ®fM 3 & 9 A 30 A




RIRE 1SR

IEES 22 =5
ALSME®RE FEEEE) RUVALBR—E
1 T 2 & CFEAMERNEIS
2 T e 5 i ERETF{CFM202%
3 I = i Al XK
4 I = 1 B SIS
5 A#f2E (4£) 8B S 3 # 5 A 12 H
6 A # ® 7T B BH M 3 & 5 B 26 H FHr 10 B 00 %
7 ¥ E i 1% 30,492,000 M
8 A At B @ % 27,720,000 M
9 &= & @& R @ B - H
10 € A AL fi 4% 58 2 2 S M 4% (B 3R) 25,019,194 /M
ARLEER -
A K & % A & A o= &

(9 LLI U 4R 26, 800, 000 SEFL  (96.68%)
(BT A 217, 200, 000
A+ E A 27,000, 000
E—EERm 217, 300, 000

- K& |BX&# LG8 KERMFEEREE LE B—

T |ZRETFRASAAT BT7H
LS 29,480,000 M
T H BEL «M 3 & 5 A 26 B~ T S 3 & 10 A 8 H




RIRE 1SR

IEES 23 =5
ALSME®RE FEEEE) RUVALBR—E

1 T = & CFRPMPERAFEFBESNMHELEIS

2 T e 5 i ERETF{CFM202%

3 I * 1 A B

4 T S 1 B  EEFEENMMELEIS

5 A#f2E (4£) 8B S 3 # 5 A 12 H

6 A # ® 7T B BH M 3 & 5 B 26 H FHr 10 B 00 %
17 F E i % 6, 391, 000 M

8 A # Kk B @ ®% 5, 810, 000 !

9 &= & @& R @ B - H
10 € A AL fi 4% 58 2 2 S M 4% (B 3R) 5,345,200 M

ARLEER -
A K & % A & A o= &

@INEEE 5, 650, 000
WEBHIHE 5, 680, 000
ERALEE 5, 600, 000 %&HFL (96.39%)
BEHEE 5, 750, 000

- K& |ARs#t WMAIHBE KRR BHRRT

¥ |RERBETAEIERALST B35
2 S 6, 160, 000 M
T H BEL «M 3 & 5 A 26 B~ T S 3 & 9 A 30 H




RIEEE 151K

IEES 24 =5
ALSME®RE FEEEE) RUVALBR—E
1 I E f RRERAX—GREXGFERISE
2 I = 15 T ERETFHS 3 4 7 FHM
3 I = 1 Al HWERE
4 T = 1 E RERFEEREIFE
5 A#f2E (4£) 8B S 3 # 5 A 12 H
6 A # #® 47 B B H®M 3 &£ 5 A 26 H g7 10 B 00 4
17 F E i % 6, 259, 000 M
8 A # Kk B @ ®% 5, 690, 000 M
9 &= & @& R @ B - H
10 € A AL fi 4% 58 2 2 S M 4% (B 3R) 5,141,465 M
AHKER -
lfli;}guf%@%;% # 1 H =20 w0 (h v ARIEEALE)
AW £ 8| AL £ 8| AL & &8
BARS—JILEFLIR S [E 5, 550, 000
TEFREW 5, 600, 000
RIEFER 5, 500, 000 L (96.66%)
- K& [KR%FE #HAstt IDEEdaRE % B5
AT (RR&ATFRERRNMHE1-4-2
2 S 6, 050, 000 M
I # AL ®f¥M 3 # 5 A 31 A~ S 3 & 11 A 15 H




